Guided Practice Worksheet
Solving Systems involving Circles
Solve the systems.

1)x2+y2=16 (..0_10)3_90) (3_‘]0} --o,'?o)
Y=3-x
2)X2+\/2=36 No solvon

Y=2x+15
3) (x+4)* + (y - 10)* = 25 Mo i

X=2
4) (x +4)* + (y +2)* =25 (oll)

4x+3y =3

- 91, -4.91)

5)x2+y2=28 (..[,’51,5-1‘1) L3,
Y=-3x+1

2,2 ) (=3;24)
6)x"+y°—25=0 (-3,

X' +y’+6x—7=0

7) X +y’ =16 =0 (4,0)
X +y?+2x=24=0

8)x*+y* -9 =0 No solvivim
X2+y% +20y+70=0

9)x2+y2=49 (S,OS' C(«s’f> (G_C,‘s') *O.S!)
(x=6)°+(y—2)°=9 !
10) (x—1)*+(y+5)? =25 (fo)

(x—1)*+(y—4)* =16



